6MOO5B Pupil Tasks Plon ok

Master Standard Partitioning (7 digits) B

Fluency 1 Fluency 2

Copy and complete the stem sentence to compose each Copy and complete the stem sentence to decompose each S
number by combining. number by partitioning, and draw the counters. -§
T U
and combine to make partitions into and 5 3

(%]
& o
=
1,000,000 | 2,000,000 3,000,000 4,‘0 5,000,000 6,000,000 | 7,000,000 8,@ 9,000000 1,000,000 12,000,000 3,000,000 | 4,000,000 | 5,000,000 | 6,000,000 7,000,000 | 8,000000 | 9,000000 g §
L]
m_
100,000{200,000 3@0 400,000/500,000 6‘0 700,000{800,000{900,000 100,000{200,000{300,000{400,000{500,000{600,000{700,000/800,000/900,000 £ 3
o DT
10,000 [20,000(30,000{40,000 50,000 {60,000 76) 80,000/90,000 10,000 [20,000|30,000{40,00050,000 [60,000|70,000]80,000{90,000 g 5
g
1,000 | 2,000 O) 4,000 | 5,000 [ 6,000 | 7,000 EC 9,000 1,000 | 2,000 | 3,000 | 4,000 | 5,000 | 6,000 | 7,000 | 8,000 | 9,000 o
S o
Qo
100 | 200 | 300 | 400 O 600 | 700 | 800 é 100 | 200 | 300 | 400 | 500 | 600 | 700 | 800 [ 900 gﬁ
= 0
cC C
10 6 30 40 50 60 O 80 90 10 20 30 40 50 60 70 80 90 3 <
¢ 39
‘ 2 3 4 5 6 7 8 9 1 2 3 4 5 6 7 8 9 = 2

3 O O O O O O — @ 5,560,707 (1,474,396
ﬂ [9Iololo]> [5[0[0)> 5/016HIE 18)
7/0/0/0/0[0/0)> [6]0l0l0I0)> cH208 s>
[2[0loo» (60

@ © Planpanion LTD 2024



This is a FREE resource from @loh couk

6MO005B Pupil Tasks

Master Standard Partitioning (7 digits) B

Fluency 3
Fill in the missing numbers.

7,000,000 + 600,000 + 30,000 +1,000 +400+20+5 =
3,000,000 + 7 + 6,000 + 30 + 40,000 =

6,000,000 + + 7,000 + 200 + 40 + 8 = 6,507,248
9 +800 + 6,000 +

+ + 7,000 + 600 = 4,007,690

+20 + 80,000 = 9,086,829

9,100,472 + =903,472

+ 5,204,316 = 5,264,316

Fluency 4

Fill in the missing numbers.

+ + + +
+ = 8,125,364
+ + + = 3,303,300
7,532,490 - = 7,530,490
1,798,253 - =1,098,253
5,910,074 - = 910,074
6,205,481 - = 6,205,401

Fluency 3

Fill in the missing numbers.

7,000,000 + 600,000 + 30,000 +1,000+400+ 20+ 5=

3,000,000 + 7 + 6,000 + 30 + 40,000 =
6,000,000 + + 7,000 + 200 + 40 + 8 = 6,507,248
9 +800 + 6,000 + +20 + 80,000 = 9,086,829

+ + 7,000 + 600 = 4,007,690

9,100,472 + =9,103,472

+ 5,204,316 = 5,264,316

Fluency 4

Fill in the missing numbers.

+ + + +
= 8,125,364
+ + + = 3,303,300
7,532,490 - = 7,530,490
1,798,253 - =1,098,253
5,910,074 - = 910,074
6,205,481 - = 6,205,401
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